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Show all work needed to reach your answers. LD”U ¢ { 1
B (B poinﬁ) Suppose that w(t) = {cost, sint), and v ( ) = (cos2t, sin2t) . Please show that _——-J

the curve C f r u is the same as that for v. (i?)
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2. (8 points) Please find the equation in rectangular coordinates that represents the curve ¢

for the parameterization () = (cost,cos2t). What is the name of this curve? One or
more of these trig identities below might be helpful.
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3. (9 Points) If u x i = 0 and u x k = 0, what can one say about u? Please explam@ustlfy
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